UM

. UNIVERSITI TEKNOLOGI MALAYSIA
SECI1013-07 DISCRETE
STRUCTURE

GROUP ASSIGNMENT 11
SEMESTER 1, SESI 2020/2021

LECTURER: DR. HASAWADI BIN HASSAN

PREPARED BY:
Mame Mo. Matric

Soh Zen Ren A20ECO152

Saad Kabir Uddin A19ECAD56

Hasin Araf A20ECA024




ST s R
i .qg.: """"" fin. |
/ Ansn +o the Duolow P : T
A e e e T A e
__,"_f- fﬁ J'GI—UF C, WMH&QUS
fffﬂém__.. P‘\c.nf;_p_,_ EE&:__J_F?.Q.“{ -';:_’ﬁ-ﬁd ":__. {a j,,ﬂj j
"ﬁaf'ﬂ'ﬂf— Pln-t 2 QOpsw we &_:'ﬂ‘t;":u g = M&;} N
] —Fad olore o B ©
Bad. fresi, Rk Nk e e RaBdes o
— “hoe i w =k
_F_,_f’f#ﬂf_______ e R S TITr—
- __,.--“"‘-‘_._ -
et /__'____’____._-—
e ] s W dishmed— )
15 C}LL Hoa mowbms ghodd u ; :
.,H,.--"_f}__’_'_{_./—_—-— é:ﬂ):‘__ [)Lcar_{ o bt ..!-ll;h,d b | L L wos
_F__,.—a-"'_-r____-—-—‘_'_ (}_‘_J,__ ?R,_G.LL T :{:.U» I_d TR E,.::s-.é} _
;-:,_.--"""__-_ ‘1-,,2_&__ 'PI‘G“LE—- g_.:,...,..l T -\%—'tﬂu,;l par ua@__—__
_.--""'--_-_-___ e ——
Fﬂ-.-f.b_/__—ﬂ';ﬁﬂ: v LRt “ = 120 PO
_______.._—--'" a

N t ‘di ‘\aﬂﬂ-{: [
Py o e

— 5 ot _vwwe o 0

P

o g v i
QT T s

J——

oo o d 790

2 wd

Lo Wed 1o oo
v F—?Rc:.c_u._ co-w h
o lace Qom Yoo Wed w & Lo
- ad w DL

el floce oo e Bles v O ORE—

e T

Scanned with CamScanner



Scanned with CamScanner

i| |
1 e Heu B P )
B i ticart L B
+ -*-——*-1_‘_;______
-4 ) e —— h"':;i_;l‘_il "JLE_ @L_ﬂﬁwh Nﬁ".ﬂ:-_________.__——a—_.._,_ﬂ.
JdH~ - ) 'n:_) 1\*1'5"-"\ - 1.u;: ’1:._.,.;'_'.'::_.~;‘£ a{._l:-:_.l':___‘a_f‘__c:t_‘_________‘q
Bt oW, s NN B e
fi . S o Ve e A e Vei otk © men
Lo e N e A [
i J. B SES— . sl
I8 B - o
[ 3 S — Ve NGl W Yo Gt
1‘.__---_ _____ E““-‘_"L_“'J'LHL-_ , Se L.-:;,-...,q,ﬂ[af;'mﬂ' e o3 O qaoFP
1 3 S S0, W& Mouve Yot G pedow e |
gt ?ﬂ‘"‘"‘" Men  gneup  o-d T Lowew
! R |
? L - O, Cog. Oon _('}ufl_ﬂﬁ-.m Q. (‘: Pelss w— Mlﬁ:,wn&
. d ! O o el b, Yona N - |\_|I' Loy G;.Jr.———
J‘_ e S Qe \M:.Uﬂ O O ﬁ-mﬂn-?hﬂﬁ. fem
i L) Cooys, :
L: 50 .-' toQ- Qo oo g @ +apawa :1;!-4 =
.'.j Such o 9 B ol anpod— 511.____%
1 2
AN ] =T =1
_.||- > L\ ‘j (\_5—3 5 Mc--ﬁ 5
B W The couple Tusnled 1, oF et — W
[ s otion _ (8.1 L2)] = ®T@)]
'-u‘;':" i an.:"‘; j[»—c,."u‘.ll.- j Eﬂuﬂk#— G-.‘r o qn_uvp &__d\
e thow  olen ¥ feovle 1L g pesple
! CJI.‘.'_ e @._ Callliona O 2_ ) Pﬂapq,_.q‘ g..ﬂgu—..r.l_. a_
i FLDI:.-»,:I_ H‘Dlﬂ_ _ 1_-:__(_'_"_'!3 f! () ":"H ' -
= il g : ;
'[}m,l,.{,.g, 'H-wlL- C{a-nr!-f- as- bPa flLeonr e 2 . et
B e ou it T
’Lﬂutf_u | C’I—T? Ldﬂ'-d_\ ¥



/ﬂﬁ_f,.—-s-"_ :}1“[}“
/’."/fﬁ___..ﬂ
l.a-l‘.'.l"'"‘
e dh othan-
/”‘/ e_,ﬂ—'___‘_____.__—-
"":"F-rﬂ.’r_____.--""""“_-_ _'_H' o = e
|
ﬂ____,_',—---‘a')'ﬂ;\ o Qowmenm ok . albmmedt Sty
e G R )
,--"";-‘- 1 . )
rr___,..-:-*"“'r-—-'_é-tﬂil-_— et— .l C,Elu-\s-m.-l.q,ll'l_ -~ L;m-mq_.,? o0
__---""W 6_ oltounae soeds . b 15 dowe 'W
r-'—""“"__("s:_:?) ! ':'3":"?’\5 Ak W, o8 Dun oo Twle .
[ L e 3
T Nﬂh;‘., e T Moo, Con b C*-i‘m.ﬁntnlﬁ. S
= T Lot Npow His Humg =13 awd {J'S'.-QVIJ
Theconst oMeosa  gyomen one seotdd.
=3 \l
So. ,the Qeople pne g}rumhag,c';l. e | o ulle"
G Fd— mev ood  toowedk S - oIrenmete
e s o Ly o G0 L))
& Noo, Zlv  ghote shodt— wa novel 12 People.
Rl Yclinde e AlIo. ond  Vhan hesbond -
5 - e eed Yo oo~ o Haw 1, a .-hwz,.
:-__H w M A od Ther  hwokoasd stadl
| Tegeten o
I R s S N L
1-—-_'_'—-'.__‘- J S

Scanned with CamScanner



_____

______ —

gt o .C\ ?J-ﬁ" aArs My -1 O L_- WFR‘ET’_S’E}_—‘I“'\-&“W-
s & A il' thl- A Won ‘*\u-.; Lia'q LL_J L"-l-,ﬁ-r' ‘[:;TE:L&;
Lt ‘I':I L b \ L'J" 1 t".'«.]a-, -
1H4- | - L S———
BR : e e S AT B
fH—
1
P . ?
{ i 1
#1 LS - :
] ] b .
k- | e Yo YL Dookoe. NO- 4
i+ =— N
L0 Reas ¥ ot me Hes,
4 | Thane. ofe T spnaaton .
o .: ’ "'I'LL ni""l\.l'-}ﬂ‘bﬂ)‘]__ O_-'i— ﬂﬁ*‘ﬁ,‘. +ﬁ -!..}"-u. mJ =
S \20 wouy.
= ;lg

‘E‘) I T sty e,

Bt ———— i

_ "'“ = *1-"'1 Mm;r‘_‘. 'Pl"k"‘ath_w_\-‘i-\ﬂ

T TS e T om0 T,

> ’LU'}QIQ* 'l"-'l.ﬂ L.haq;u h— f_m__ u;

e Tt

4;;;'5' i !;-fn-,wL ENTIEY

__.._ e -

T - 5 E T T N S ———— S e ee———— o e

Scanned with CamScanner



i
"

Diaviz:

—

—

.,L*E"

e

Cgyubony  he, o
b lacay Ay T

COmed— o
ol-ﬁoma, [ 5pmq~5fm.s Ve A

ey R b
g\.‘* t‘ kﬂ-a ME‘S'..O -p(éa

gﬂ-l_ 'IG dendj. \“B
\W ?_G

s —— T
‘‘‘‘‘‘‘‘
i

-
p———

Prsoct Yot Qoo No-Y

'

’5 ﬁuu;ﬂém_ Hod— M one 8% L VomeHy d‘a_.——‘

Q_{lasmb : ’
X "'."b-ﬂ.u.“ oL pﬂ.n:-u Qm\';.sﬂ-'-:’j ! t"_L-.EI'-I\-a EM‘-‘*EE‘"I}»_

e ooty s olwoed C®isonk  aprle

ann 55 mJj a—OL ‘ﬂ“m acp | ll“ﬂ&ﬂ'-fb

e c:-,‘oj'tdnd-:. vy o é..'l-.-é Y Maembena a&—s

ooty o thome. o doka S otome-h

e ey S e Lot S PR WO

"-"J'D-i.:: "H' fll.nabu. fh:ue. éb?:om Q.ﬁm:-ﬁamwl: .-_mun

ob— Yooyt #-u'n L il

o Vo -p{r."'-?'-_-' oud— A Lorem E-m\:.-:-.mhéj

oty oA Ve — dwo S“}\“"“E*-‘L Wl "!1"&51-‘*1’1«'-‘1\\

od— Mo dnowm each e e v Lol

o Kindsg Tl ";’;';E‘E Owe  dotln anau;m,b

e
e i T

Scanned with CamScanner



il A
ilh - No. Date:.......... )
! B e et A
| - —
B ey S e G
, tm...._m______ 'M.Q.LL-LI: o= \-Lg__, L'-V"bJﬂ,ﬁﬂ-J selee i s N
Nl : =1
B T“ ;*!”“- — | e fl. LG'*’ ‘.1—-"“! 2 \'t-) Q' LE‘I%:...D:L %
? ;:"‘b::__-—-n ——, e ...-....-,._.----—-—-—" 1 LT—-L"IT_T'H:)—E_-_—_
| ———— - e R AV E R VIR
j‘?‘h ST e B AR~ L T L 1‘1?{“*‘""
d B i i o ~ (\83 L-;T:Io..% e
| I -
ﬂ',) _“"sb bgﬁ{,@:!hdm- 1:- o %’1"‘{1 -‘.—L'L—PMMC{-
i Qi o hoose. o dofem 0o Omhy o,
(ae ok lass— 5T alweslate t;'rm-uf- oty o3-Oh K4
I o loox 4 lwond an0issocmt i
“1' Moy onz U cmumk\;; RICE
: ok— lapsd— T  adlocoledt oanorss w-.-!:v_\ o
F Q—'-‘-" locst— 5 lnoud 0XLot 559.»5-1 ane _:
(B Pckad  odk— _
i I ﬁ'iml—-, -
1 | S Chowollpde , b obwood
| o, b anone_ Eﬁbﬁiﬂml—s one ¥ Lo pidid
| od= don i hth_ﬂ&niuﬂ_:b o5 taondenad .
i s ockyun | _
I Hone s
+ w= , , W= b
i cwl_64+16-1 ,16) = e {20, <) C
;E T E Azl . .
T\ e ;
_. =Y
i AR

Scanned with CamScanner



9 "
0 N‘wer
/oa auestion (9)
-_,mﬁff)ﬂ'/?klc/
AM(([é 1(0;_(
ﬂ,uunbe /4 " o feam ‘0
| i |
Kicks ] ) eqvy/ th
& | I0 ¢ e numberz oF
b g " Core - e
N ?_ g A (3- O) ][ %K [ (?@K/
; | ’ |
| E 8 (4-1) fC) | 3‘&16/‘”2’376 ] 7
L & [3 I P :] - | w ] OVC/‘/.W' , _—
g D 0 I O_J_‘ 4¢C4 x3 a4ys | _’_\"][@Ues — v
| (2-0) I T OZL,’) TYca ;33’/ - Besyi+
E (3 (%) ;YQ‘,(]/ 1"‘ JCU dJ - l
’: 9 I CU/'/I/IJ} Cl x‘f‘(’o JS
19 "I‘C = 6 wi A 3
9 G, (#-2) | fw,f,,”,} axdct 75
H l (2 0} I (9: { Q O 464;( K{bb(r/ad-",, f A ’3
( 3- /° 9, .S“c' = & ] ,C 4
T 1) | s, ,° TN T | 16-3 7
| J‘f" ') e all/.} =4 (0] ==t R . 35 ]
T d 1 Z o, 1 I/’ZUCU c3x@ LIt .. ! O » ik {
L (.S 0.0, 1, ' T I o =
T {0 5 ’ "z',',,,,;} :czrx%ogjlﬂ&i,' i E /0'63 ,
C e 0) go 3y 0/1 2) cs K_4C3Wa‘7r , ‘B' _I/;—' N (to._'/:i
*—Ifl r) (g:g;‘g Og | $¢l X _t,tt(;my.:__ ’ -,. 3'0;“:);‘!-_/)
’ 3 y coo L) g(l);‘.s—s;m/aj 9 S 224
(4 - (6,0 = '/ 'E ) Sd’ T 4
L*) (o/l e Sc3 x 5(:2Wa 3 5
| 0,6 0 VG f
!(g -4) (///aliflf/ ysc‘/‘x g‘éjﬂij—’ A C/v !‘go"6~g_
bt | | 60’/ M‘ | S X " , Y &y H =7
s( +3+3+ A *C9 [ BrF T P 4-72-
b+’/’,+3 “GWO YISUVJ_ ?2
2‘0 '/‘4/—.[.. ]S F =X o
X2 L¥ + AL
= 440 LG F U b a ~
FSA40 =
+ 60
20 + y
2

=V



L Answer 6)

—
)

- O

%"QSf S tounds dron~ :[ZW;Y?)(Z/QQ,/(/ﬁ'gﬁ)me/’; ggz)('?c)_)( 1[, 260

Clwin)([lose) ( 3Fe/nme)=S, <% x AT b0 |

(S fielmne) = 2, x X7 x XT3

Tital wars = (G0t 160+ 3% 220

= 108440 Lty
Ans~er(c )

st 10 round draws = [@-&je&ﬁg]x (60 +16012)
= L3504
4 Moe graw = *C X, x X%, = /¢
3 Mare dyrpws = l(/)(lC,x ’“(/: 7
2mae deams = ZC/XlC/ = L
L more deas - LC, =,

no dravw <= |
both con = 2X (1644 Cf2+1) X (62504
~ :373?29‘5/4/»/?\5




Rl
A()Jwer
Opetine Qyestian

~ 10 9yésTions
- | quectim 4 possible responres,(a,b,c, d) |
~Get minirmum number of stidents = qt legst 3 quwer el idedfital.

) Excplain Anwer |
There are ‘f‘lof- I04'X5?5 c/)ofCeJ,T/)uj, if There qre
[048536x2 22092152 sfudents , it is contirmm
that there could be exacfly 2 answer cheels

are identical. Therefore, by applying The P;jeonko/e

princigle, There muif be (1093152 +1 = 2097/52)
I

students so %q’f’fberez%ir)/mum at leasT 3

dnswer &Ae@'}'s /denti cal,

[ 20935
| Tosesnl” 3




%

F Answe-
Ue'ﬁ'ne va‘ﬁbn \

SN adest pass I;@,h,,;*

‘65} L Madhy
TS0L pesy berh

=38 Wil bolh.
- Qet ne. of Can olf e s

) Explain Answer

\ \

If fhere are 100 ctudents , Phers are 76 Sudents
hi T'o? and 65 students hove pased in Mathamatics while
S0 stedents polued bolh the rg‘:jadﬂ

So, i we look of this Scenano, we can predict that +here
are (?5-BQ) dwenls have passed onk io history and (65-50)
Students have passed only 17 Mathematics. Thu, i+ we qdd
up The nomber of studenls who passed he examination,

there will be 25+ (8 +60 =90 studenTs .

have paysed ip

Ts conclude Thal,there ace 10 students who Yo,/ both
Julv'ecfs in The toTal of /00 shvdents, co Xx3s =350.

TA«JJ, thee are 350 st dents io Totw/.

—




N

.
Answer
D0etine Question
“integer (300 - 380)
& Qef pmbqb f/ﬁ"y. (num

’ | P
ber chosén muit /)a»eAaf least 0r7e o@u ﬂ

® Exglajn Answer
Ran ‘ N o igfser with | |
301 = 400 19
40] - 600 |4
Sol-600 | 9
60 - 300 (4
0| - 780 |

-

Based 0n ﬂw}s fable, inThe range of 0 fo 99, if can b€
explained thaf [ o 10 have 2 number of miegers with |
and 11 15 20 haye F number of iofegers with 1,

l[ ‘I‘o 30 ")qve [ number o¥ 507?9(96% mgjjame aJs

3] 4o 40 and so ony unli| 411 99, thus we can @dd
up the numbers 2t g+ (X¢=19.In the rrnge s¢ O 1o
§0, we can add vp the nuvmbers 6} 249+ |x6 =17
Thus, we Gan Sum He numbers , [IX4+ /7= 9S. The

+otet] number ot ntegers /s ¥0-300+/ = 4%/,

Iy conclusion, % s the probabi/ity (0.193347),
‘ —F —#

| to )0 (1,16) )2

11 -f_'.i—_lo Cl)<199= 9

21t 8¢ Cay )i

3.

% -

st




ﬁnj. Kabr vddin
Al9Fy bS6

1®ye - ;
D.car e _ 2o voys
i
a ;
G ey e WS e
4 567

16 -

Lﬂ] Il.d A Ty :,\.Fl-'ﬂ" H:gﬁfd - h"iﬂ‘:n.
Caxte) (ot us) - fﬁf‘ul_)

PCA? =
. osr (%)
LQ 'IJ e o C‘\fﬂl‘* LT h-l,‘r‘j h'ql ‘.‘;q‘.‘[‘
('lzn. ") : .
P fﬁ.ﬂ') o b () |
- -.ﬂ'l"‘l‘i pB2 ¢
ﬂ‘El‘ =

- A Y

-



| 4R RAT Y

ihc‘———:—-_.________\_‘_

. lighy Yacks = Include CSWS rﬁck P """;""‘5)

o Lo

\1
5 A
T | W '
L Fm

b A g everd of fodad  acci

pLH] - 6.6 X 0-02) ik (0- 4K 0-625)

62¢
o 97%

G,ql‘?_.*_

S
—

lMer ' dileremt talowrs

W\ - 2

¢ bor 'n Jiferet  Shope.

E\c.qvt.tqﬁ:- 9 62184 ¢ o /o

g - _-;:EHB’L—'

ﬂ\c,'l‘fri‘ =
3y, gk, AL
C«c L tL ) R
9= b;, )
Gey X
SRR U Wil
.' {465 % 0 A T AN

—rtP
2 62\44 ~+ 3_-,:}31_-{"'30.':}2’ L:L

wod b 2 |
> (964Td L




